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Multiple Choice:(30%)
1. Net income will result during a time period when:

a. assets exceed liabilities c. expenses exceed revenues
b. assets exceed revenues d. revenues exceed expenses
2. Debits:

a. increase both assets & liabilities c¢. increase assets & decrease
liabilities
b. decrease both assets & liabilities d. decrease assets & increase
liabilities

3. Arevenue account:
a. 1s increased by debits c. has a normal balance of a debits
b. is decreased by credits  d. is increased by credits

4. Which of the following is not part of the recording process?
a. analyzing transactions c. entering transactions in a journal

b. preparing a trial balance d. is creased by credits

5. Each of the following is a major type(or category) of adjusting entries

except:
a. prepaid expenses c. accrued expenses
b. accrued revenues d. earned revenues

6. The trial balance shows Supplies $1,350 & Supplies Expense $0. If
$600 of supplies are on hand at the end of the period, the adjusting

entry is:
a. Supplies 600 c. Supplies expense 750
Supplies expense 600 Supplies 750

b. Supplies 750 d. Supplies expense 600



Supplies expense 750 Supplies 600

7. In a work sheet, net income is entered in the following columns:
a. income statement-Dr. & balance sheet-Dr.  c. income statement-Cr.
& balance sheet-Dr.
b. income statement-Dr. & balance sheet-Cr.  d. income statement-Cer.
& balance sheet-Cr.

8. The sales accounts that normally have a debit balance are:
a. by importance c. by longevity
b. by liquidity d. alphabetically

9. If sales revenues are $400,000, cost of goods sold is $310,000, and
operating expenses are $60,000, the gross profit is:
a. sales discounts c.botha&b
b. sales returns & allowances d. neither a nor b

10.1If sales revenues are $400,00, cost of goods sold is $310,000, and
operating expenses are $60,000, the gross profit is:
a. $30,000 c. $340,000
b. $90,000 d. $400,000

11.Mark Enterprises has current assets of $80,000 & current liabilities of
$20,000. It’s current ratio & working capital are:
a. 25:1;$60,000 c. 25:1;$80,000
b. 4:1;$60,000 d. 4:1;5$80,000

12. The basic formula for computing earnings per share is net income
divided by:
a. common shares authorized c. common shares outstanding
b. common shares issued d. common stock purchased

13. Which of the following approaches for bad debts is best described as a
balance sheet method?

a. percentage of receivables basis c. percentage of sales basis
b. direct write-off method d.botha &b

14. Inventoriable costs consist of two elements: beginning inventory and



a. ending inventory c. cost of goods sold
b. cost of goods purchased d. cost of goods available for sale

15. The lower of cost or market basis may be applied to:

a. categories of inventories c. total inventory

b. individual items of inventories d. all of the above
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